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MANAGEMENT ACCOUNTING
( Speciality )

Full Marks : 70
'Pa_ss Marks : 28
 Time : Three hours

The figures in the margin indicate
full marks for the questions.

(@) “Management Accounting is the
presentation of accounting information

in such a way as to assist management

in the creation of policy and in the day-
to-day operation of the undertaking.”
Elucidate this statement. ' 14

Or

(b) Describe the role of Management
Accounting in modern business world.
How does it differ from Cost
Accounting ? 7+7=14

Contd.



(a) Frcim the following data, calculate

(b)

; Write are

Variable .

: Cost (

. . . per . ,

Fixed Cost ~ i 12

. sh
€ach, the S:lipgrt No. 0024 is RS "
&t Rs s. € 1s available in ™ g

() Break-cven

-
“ II\JI:: l.)reak-even point if S€
(. € 1s reduced by 20%
i) How-r
) : ;rvg-;nany. units must be s0%
net income of 10% on 5%

Selline b Rs
>eHing Price (per unit) 20

6 .
conti w1 -
“ntinuous SUppt};, an assuran®

WY
ff@i

S .

he cost dat2 i
3+

TDC (Special) MGMNT ACC (51/D 3

~ Rs.

Materials 2:00
Direct labour 2-50
Other variable kcost 0-50
Depreciation and other ‘
fixed cost 1-00 .
600
Or

“Marginal costs are primarily used in
guiding decisions yet to be made.”

Explain the statement giving examples.
| ‘ 14

pared the budget for
f 60000 units of the

only commodity manufactured by them
d as under :

for the costing perio
Rs (in lakh)

Raw materiai 2:52
Direct labour 075
Direct expenses 0-10

2:25

Works overhead

(60% fixed)

Administrative overhead 040

(80% fixed)
Selling overhead
(50% fixed) '

0-20

Contd.




T

W}:; a;:ttlla.l production during the

revisec?g 40000 units. Calculate
udgeted cost per unit.

Or
(b) AWhat dO yOu
What are its

ad—
Budgeted overpons - o' 00

BUdgeted perio
Standard per

pj'lelli

i

mean by Cash BW

advantages ? HoW g -
5401

i

I
|
;
i
i

;ad*RS 2,000
un"4000 labour hour$

1t—10 labour hours
taxation 30,000

]

26

: Or S
What do ybu understand by the term
¢yariance’ and ‘ Variance Analysis’ ? Explain

the importance of Variance Analysis.
2+4+8=14

summarised Balance

Following are the
n 31st Decgmber,' 2008

Sheets of AMCO as 0
ffLiabilities jo0s 2009 Assets 2008 2009
' Rs.  Rs. . Rs.

%hare Capital ‘ 2,00,000 2,50,000 Land &
. Buiding  2,00,000 1,90,000

General Reserve 50,000 60,000
30,600 Mechinery. 150,000 169,000

diock  1,00000 74,000

| (long-term) 70,000 _ Debtors 80,000 64200

Pundry ‘ ‘Cash 500 600

Il creditors  1,50,000 135,200 Bank - 8000

|Provision for Goodwill — 5,000
35,000 -

. 7530,500 5,10,800

e —
5,30,500 5,10,800
O ——

/lAdditional Informatioh :
(i) Dividend of Rs 23,000 was paid -

another company Wwere

(u) giii;sas%f for a ‘consideration of
Rs 50,000 payable in shares |
The following assets were purchased,:
gtock—Rs 20,000

Machinery—-——Rs 25,000

13T (3pecial) MGMNT ACC 81/D 5 Contd.




(ii)
(i)
(v)

(vi)

Rs 8,000

Machinery was further purchés

ch
Depreciation written off on ma
Rs 12,000
Income Tax

X e
Provided during th
Rs 33,000

Or

p o the purpose of prelzﬂ i
ash Floy Statement 2 Ho +10
prepared? s
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